The
Mystery

of 


Miss Anderson’s Wedding
Cake
Catastrophe
Miss Andersons Wedding is almost upon us! The tables are laid, Miss Anderson is dressed in her beautiful gown, the guests are arriving and the golden coach is waiting in the courtyard.
Mrs Green, the royal cook, has been up all night preparing the food. She wants everything to be just right. The five-tiered wedding cake, iced with lilac and white flowers and encrusted with gold leaf swirls, has been in a cool cupboard for two days.
But wait! What’s this? Disaster has struck!
Mrs Green has gone to the cupboard where the cake has been kept and discovered someone has eaten the top tier of the cake! All that’s left are crumbs and the small marzipan figures of the bride and groom!
Your task is to unravel the mystery of who caused Miss Andersons Wedding cake catastrophe by solving the maths clues.
Good luck!
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The Mystery of Miss Anderson’s Cake Catastrophe
	Name
	Male or Female
	Royal Household Job
	Height
	Hair Colour
	Favourite Drink

	Ameena
	female
	Chef
	tall
	blonde
	lemonade

	Bernie
	male
	horse groom
	short
	brown
	water

	Caspar
	male
	footman
	tall
	brown
	cola

	Devindra
	male
	Chef
	tall
	black
	cola

	Fabia
	female
	maid
	short
	black
	tea

	Grace
	female
	chef
	short
	ginger
	lemonade

	Hamish
	male
	chef
	tall
	brown
	cola

	Isha
	female
	chef
	tall
	black
	lemonade

	Jake
	male
	footman
	tall
	brown
	cola

	Kesia
	female
	maid
	short
	brown
	lemonade

	Lee
	male
	horse groom
	tall
	black
	tea

	Michelle
	female
	maid
	short
	blonde
	lemonade

	Niall
	male
	footman
	tall
	brown
	tea

	Oscar
	male
	chef
	tall
	brown
	lemonade

	Pria
	female
	horse groom
	short
	black
	water

	Rhianna
	female
	chef
	short
	blonde
	tea

	Simon
	male
	chef
	tall
	brown
	water

	Tia
	female
	maid
	tall
	blonde
	tea

	Usman
	male
	horse groom
	short
	blonde
	water

	Veronica
	female
	chef
	tall
	brown
	lemonade


Mrs Spencer, the apprentice footwoman, thinks she is very good at maths. Check her answers and tick if they are right or put a cross if they are wrong.
[image: image12.png]


Count up the ticks and crosses and write the totals.
	
	Right
	Wrong [image: image1.png]




	12 − 10 = 2
	
	

	2 × 3 = 4
	
	

	49 − 10 = 40
	
	

	5 × 5 = 35
	
	

	36 + 14 = 50
	
	

	10 × 10 = 100
	
	

	67 + 8 = 76
	
	

	12 × 2 = 22
	
	

	Total
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If there are more wrong answers than correct ones, the culprit is tall.
If there are more correct answers than wrong ones, the culprit is short.
Circle the answer:
tall
short
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Use the ≥ or ≤ signs to make these statements correct.
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Count up the number of ≤.
Count up the number of ≥.
If there are more ≤, the cake eate If there are more ≥, the cake eate Circle the answer: male

Look at these clock faces.
Colour in the times shown in the table below.
Use the words to make a sentence and work out the third clue.

	half past 1
blonde
	3 o’clock
brown
	quarter to 5
had

	half past 9
no
	half past 2
the
	quarter to 7
ginger

	10 past 6
culprit
	9 o’clock
black
	quarter past 8
hair



Look at the pattern of the numbers in each row. Fill in the missing numbers on the palace windows.


	40,
	
	,
	
	, 70,
	80,
	90


	30
royal
	50
cake
	28
household

	65
eater
	45
footman
	70
was

	60
the
	17
the
	34
horse groom

	16
in
	38
chef
	40
a


Mrs Retson, the kitchen hand, has got lost in the royal maze. Follow the path in the 2 × table to help her find her way out and discover what sort of drink the cake eater liked the most. She can only move down, left or right.
	Start
	2
	3
	4
	5
	6
	7
	8

	5
	4
	6
	9
	8
	7
	6
	5

	6
	7
	8
	13
	14
	15
	16
	17

	17
	12
	10
	11
	12
	13
	14
	15

	21
	14
	15
	16
	17
	18
	19
	20

	23
	16
	18
	20
	21
	22
	23
	24

	3
	17
	19
	22
	23
	21
	19
	17

	12
lemonade
	11
	13
	24
Cola
	23
	10
water
	13
	20
tea


The cake eater’s favourite drink is 
. Have you solved the mystery of the Royal Wedding cake catastrophe?
The cake munching culprit was 
.
The

Mystery
of
Miss Anderson’s Cake Catastrophe Answers
Clue 1 Mrs Spencers Maths
	
	Right
	Wrong [image: image2.png]




	12 − 10 = 2
	 SHAPE  \* MERGEFORMAT 



	

	2 × 3 = 4
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	49 − 10 = 40
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	5 × 5 = 35
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	36 + 14 = 50
	 SHAPE  \* MERGEFORMAT 



	

	10 × 10 = 100
	 SHAPE  \* MERGEFORMAT 



	

	67 + 8 = 76
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	12 × 2 = 22
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	Total
	3
	5


The culprit is tall.
Clue 2 Greater Than a Cake




Count up the number of ≤. 5 Count up the number of ≥. 3 Answer circled should be male.
Clue 3 Time for Cake
	half past 1
blonde
	3 o’clock brown
	quarter to 5
had

	half past 9
no
	half past 2
the
	quarter to 7
ginger

	10 past 6
culprit
	9 o’clock
black
	quarter past 8
hair


THE CULPRIT HAD BROWN HAIR.
Clue 4 Royal Windows
	30
royal
	50
cake
	28
household

	65
eater
	45
footman
	70
was

	60
a
	17
the
	34
horse groom

	16
in
	38
chef
	40
the


In the royal household, the cake eater was a chef.
Clue 5 The Royal Maze
	Start
	2
	3
	4
	5
	6
	7
	8

	5
	4
	6
	9
	8
	7
	6
	5

	6
	7
	8
	13
	14
	15
	16
	17

	17
	12
	10
	11
	12
	13
	14
	15

	21
	14
	15
	16
	17
	18
	19
	20

	23
	16
	18
	20
	21
	22
	23
	24

	3
	17
	19
	22
	23
	21
	19
	17

	12
lemonade
	11
	13
	24
cola
	23
	10
water
	13
	20
tea


The cake eater’s favourite drink is cola.
The cake munching culprit was Hamish.
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